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The average weight of a group of 53 girls was calculated as 58 kg It was

later discovered that the welght of one of the girls was read as g,

whereas her actual weight was What is the actual average weight of

the group of 53 girls? (Rounded off to two digits after decimal).

a) 58.62 b) 58.37 c) 57.37 \glé?.ez
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The average marks ¢f 65 students in a class were calculated It was

later realized that the marks of one of the students was calculated as_@
whereas his actual marks weré 152, What are the actual average marks of
the group of 65 students? (Rounded off to two digits after decimal)

a) 151.25 vb'ﬁSO.]S c) 151.10 d) 150.19
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The average marks in Science subject of a class of 20 students is 68. If the

marks of two students were misread and f the actual marks 72

and 61 respectively, then what would be the correct average?
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a) 68.5 \ﬁ@ c) 69.5 d) 68
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